a(d cot(B))

1072

1073 -

,_\
S
L

| AR I |
—4, 1 L1y 1 by 1 AR NN thay 1
_%1 OL.L: d 5 + T
o 1:—‘*-:..." F =T i 4
[ 1 4 L
o I+ T4 | b
0.8~ "__" F ke
10 1 9 o . 10° 10 1 0?
- (PCA t% beamling (PCA t% beamline
— DOM U IIIdI SLE] ((Oar-prrast L=-TTewgeoTIT
—«— DQM~™mKFit_sTe ar asel -Newge
—_— BéMﬁa le_ste 2‘tt §1- as%sl %en wgeom
—— DOQMT] e‘r(s.tPE nerlcpstepz ttbargpﬁasel-newgeom
IS IS I S S
S A
+
—\? ;N = R R R ] L)
o]
e
2 5 0
10°

1072

Ratio

[ay
o
I8

1

2 3
poT (PCA tloobeamlin(:eL)O

Ratio

iy
TTT T

0.8f+f-----

107 1

2 3
1[9T (PCA f})obeamlinéf)



	Contents
	Page 1


